
 

 

 

 

 

 

 

 

 

 

          

  

 

Read the installation instructions carefully to avoid damaging the vehicle or 

the competitive bar!!! 

 

 

BUSHMASTER BULL BAR FOR PRADO150 

 (2019+)  

 



 

 (Please check the accessories are complete) 

 

1x bull Bar 

 

1x winch bracket 

 

 

2x both side guard plate 

 

 

 

2x lamp body 

 

 

 

 

2x headlight 

 

 

 

 

2x  Light stand 

 

T 

2x LED lamp 

 

 

 

 

2x bracket 

 

 

 

 

 

 

 

Bars and accessories 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Lights and other accessories  

 

 

         

 

 

 

 

 

 

 

 

1x bottom guard plate 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

M12x35 

M12x30 

M12x30 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

M6x16 

M6x16 



 

 

2. DO THE WIRING BASED ON BELLOW  

WIRING DIAGRAM 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

• Red: Park light  

• Yellow: Indicator 

• Brawn Helmet 

• Black: Negative 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

3. Fitting Fog lights 

Use the supplied left and right brackets for fitting the fog 

lights 

Make sure the Fog light to be centered and the 

ARMORMAN  

Writing faced up   

 



 

 

Lights  

 

  

 

 

 

 

 

 

  

 

 

 


